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1.

Which part of the brain performs all

cagnitive, emotional and motor
activities?

IA) Faorebrain

{(B) Midbrain

(C}) Hindbrain

(D% Mone of the above

An increase in the size of body parts or
of the organism as a whale is called-
(A} Growth

(B) Development

{C) Maturation

(07 Evolution

Which of the following is not a system

of mermory according to the stage model
of memory?

(A) Sensory mamory
(B) Shortterm memaory
(C) Long term memaory
(D)  Working memory

To think more about the relationship
between objects and backgrounds is
called -

(A) Analytical thinking

(B) Holistic thinking

(C) Rational thinking

() Moene of the above

“Wanting to eat when one is over-
weight” is an example of which type of
Conflict?

(A) Approach - Approach Conflict

(B) Awvoidance - Avoldance Conflict
(C) Approach - Avoidance Conflict
(D) MNone of the above
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Who devised the Concept of Intelligence
Quotient (1.Q.)?

(A)  William Stern

(B) Terman

(C) Ross

(D) Binet

At present Psychology 15 called as the
science of -

(A) Soul

(B} Mind

(C) Behaviour

(D) Conclousness

Which among the following is NOT a
Projective test?

(A) Rorschach Inkblot test

(B) Thematic Apperception test (TAT)
(C) Draw-a-Man test

(D)  MMEL

& teacher should study Educational
Psychology so that -

(A)
(B)

He may stand first in his exams.
He may IiE‘l.I'Eh];p the effectiveness
of his teaching through its help.
He may feel sell satisfaction.

He may impress others.

(<)
(D)

A child is getting spoiled in bad

company. What would be your duty as

a teacher?

(A) To contact his parents.

(B} Toignore him.

(C)} To counsel him by taking him in
confidence.

(D) To scold him.
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According to Piaget in which stage of
Cognitive development hypothetical
thinking develops?

(A) Sensory motor

(B) Pre operational

(C) Concrete operational

(D) Formal operational

“An intelligence test may be fully
verbal, fully mon-verbal or fully

performance based or it may consist of
a mixture of items from each

Category.” This statement is -
(A) True

(B) False

(C) Undecided

(D) Not clear

Personality is characterised by the
following features -

(1) It has both Physical and
Psychaological components,

(2) Its expression in terms of
behaviour is fairly unique in a given
individual.

(3) Its main features do not easily
change with time.

Which of the following option regarding

characteristic of personality is correct?

(A) Only (1) and (2) is correct.

(B) Only (2) and (3) is correct.

(C) Al the characteristics are false.

(D) All the characteristics are true.

P-Tiu-
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XXI-2

“Turning the head and opening the
mouth when touched on the cheek”

comes under which tyvpe of reflex in
the Mow Barn?

(A)
(B)
(C)
(o)

Rooting
Marg
Grasp
Babinski

Which of the following is NOT a major
challenge faced by adolescents?

(A)
(B)
<)
(D)

Delinguency
Substance abuse
Eating disorders

Insecurity and dependency

Responses that lead organisms to get

rid of painful stimuli or avoid and .

escape from them, provide which type

of reinforcement?

(A)
(B)
(C)
(&)

Positive reinforcement
Megative reinfarcement
Delaved reinforcement

Partial reinfarcement

According to whom, the process of skil |
learning passes through three phasss viZ-
cognitive, associative and autono ous?

(A)
(B)
(C)
(D)

Fitts

Talman

Bandura

Kahler
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Which type of children have poor
motor co-ordination and poor manual
dexterity?
{A) Hearing impaired
(B) Gifted children
{C) Learning disabled
(D) All of the above

Which of the following is not a stage of
memory?

(A) Encoding

(B) Storage

(C) Retrieval

(D) Attention

20, The reasoning from "General to particular”

21,

is called-

(A) Inductive Reasoning
(B) Deductive Reasoning
(C) Analogical Reasoning
(D) Creative Reasoning

Which type of thinking abilities
generally include fluency, Mexibility,
orginality and elaboration?

(A) Lateral thinking

(B) Vertical thinking

(C) Conwvergent thinking

(D) Divergent thinking

P.T.O.
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XXI-2
According to Abraham H.Maslow's
Hierarchy of Needs, which need is on
the bottom amang the following needs?
(A} Physiological needs
(B) Safety needs
(C) Belongingness needs

(D) Esteem needs

Which of the following is NOT 3
Psychosocial motive?

(A) Need for achievement

(B) Need for affiliation

(C) Hunger motive

(D) Need of power

Anorexia nervosa, bulimia nervosa and

binge eating comes under which group
of disorders?

(A) Feeding and Eating disorder
(B) Specific learning disorder

(C} Autism spectrum disorder
(D) Neurodevelopmental disorder

The knowledge of which of these is most
essential for a teacher of primary class?
(A) Child Psychology

(B) Education philosophy

{C) Heailth science

(D) Social science

Which of the following cannot be
included under Child Psychalogy?

(A} Child-Welfare

(B) Psychoanalysis

(C) Mental health sclence

(D) Education philosophy
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Child Psychology deals with the study
of -

{(A) Child from his birth to childhood

(B) Child from his pre-natal stage to

adolescence
(C) Child frem his birth to mature stage

(D) Child from his birth to youth stage

Which method is used _tu study the
change of behaviour in a child?

(A) Interview method

(B} Questionnaire method

(C) Clinical method

(D) Experimantal method

What should be done by the parents to

prevent Juvenile delinguency?

(A) Scold the children,

(B) Behave sympathetically and
positively with children.

(C) Beatthe children.

(D) None of the above

Which method establishes cause-effect
relationship between two sets of events

or variables in a Controlled setting?
(A) Observational method

(B) Experimental method

(C) Correlation research

(D) Survey method

P.T.O.
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First Language - English

XXI-2

Directions (Q.No. 31-35) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

It is no doubt true that we cannot go
through life without sorrow, There can be no
sunshine without shadow, we must not
camplain that roses have thorns but rather
be grateful that thorns bear flowers. Qur
existence here is so complex that we must
expect much sorrow and suffering. Many
people distress and torment themselves about
the mystery of existence. But although a
good man may at times be angry with the
world, it is cerfain no man was even
discontented with the world who did his duty
in it.

The world is like a looking-glass; if you
smile, it smiles; If you frown, it frowns back.
If you look at it through a red glass, all seems
red and rosy; if through a blue, all blue; if
through a smoked one, all dull and dingy.
Always try, then, to look at the bright side
of things; almost everything In the world has
a bright side. There are some persons whose
very presence seems like a ray of sunshine
and brightens the whole reom. Greet everybody
with & bright smile, kind words and a pleasant
welcome. It is not enough to love those who
are near and dear to us. We must show that
we do so, While, however, we' should be
grateful, and enjoy to the full the innumerable
blessings of life, we cannot expect to have
no sorrows or anxieties. Life has been
described as a comedy to those who think,
and a tragedy to those who feel. It is indeed

SET-C

[14]

tragedy at times and a comedy very often,
but as a rule it is what we choose to make,

31. What is the central idea of the above
passage?
(A) lifeis complex
(B) life is how we percelve or make it
[C) life is pleasant
(D) life is a mystery of existence
32. Which of the given statements is true
in view of the above passage?
{A) Life has no sunshine or shadow.
{8) Loveonly those who are near and
dear.
(C} Look at the bright side of the
things.
(D) The world is distressful.
33. __ means dark and gloomy.
(A) dingy
(B) torment
(C) frown
(D) anxiekies
34. 'Roses have thorns' symbolises
in the given passage.
(A) complain
(B) beauty
{C) perseverance
{D) adversity
35, Why is our existence so complex?
(A) because it has both pain and
pleasure .
(B) because we think that it is red
and rosy.

(C) because we think it is comedy.
(D) because we don't greet people
with smile,

Fcamrwdd aith CamTree sy



Direction (Q.No. 36 - 40) : Read the poem

glven below and answer the questions
that follow by selecting the most
appropriate option.

Slowly, silently, now the moon

Walks the night in her silver shoon;

This way, and that, she peers, and sees

Silver fruit upon sliver trees;

One by one the casements catch

Her beams beneath the silvery thatch;

Couched in his Kennel, like a log,

With paws of silver sleeps the dog;

From their shadowy cote the white

breasts peep

Of doves in a silver-feathered sleep;

A harvest mouse goes scampering by,

With silver claws and a silver aye;

And moveless fish in the water gleam,

By silver reeds in a silver stream.

36. Name the object in the landscape that

catches the poet's eye -
(A) moon
(B) night
(C) sllver
(D) water

Pick out the words or lines in the poem
which suggest the quiet and stillness
of the night.

(A) Her beams beneath the silvery
thatch

Couched in his Kennel, like a log
Shadowy cote the white breasts
peep

harvest mouse goes scampering
by

(B)
{C)

&)

SET-C

[15]

41.

42.

43.

XXI-2

'Cote’ means (choose the most
appropriate option) -

{A) zone in water where fishes live
(B) rat's burrows

(C) coop where birds are kept

(D) where doves live

Identily the figure of speech in-

“the moon/walks the night in her silver
shoon:/This way, and that, she peers,
and sees"

{A) Simile

(B) metaphor

(C) pun

(D) personification

Which word in the poem means
‘running quickly'?

(A} Scampering

(B) Kennel

(C) Peer

(D) Couch

In which of the fellowing options
antithesis Is used -

(A} hypocrisy is the homage vice pays
to virtue. .
Ruin seize thee, ruthless king!

I rejoiced at the happy sight.
Man proposes, God disposes.

(8)
(€)
(D)

Which of the foreign words mean ‘in
good faith'?

(A) exgratia

(B) bonafide

(C) sinedie

(D) bon voyage

Select the verb that takes the
preposition 'in' after it -
{A) depend

(B) indulge
{C) Intrude

(D) coincide

P.T.O.
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44. Select the incormect pair from the given

45,

47,

aptions in view of the varying kinds of

talking habits -

(A} taciturn - unwilling to engage in
conversation

(B) laconic - using few words packed
with meaning

(C) garrulous - chattering meaning-
lessly

(D) wociferous - soft and fluent

Replace the underlined words with ane
word in the given sentence-

The bishop's address on religion and
maorals was the best we had this year.
(A) speech

(B) sermon

(C) address

(©) hymn

Which of the following is not a
characteristic of language?

(A) itis primarily vocal

(B) itis inarbitrary

(C) it is system of systems

(D) itis a form of social behaviour

Choose the most inappropriate option

regarding the importance of evaluation

in education -

(A) It Is to evaluate student's
performance.

(B) It is to evaluate teacher's
activities.

(C) It is to evaluate programme or
curriculum,

(D) 1Itisto keep the record for future
reference.

SET-C

49,

51.

XXI1-2
describes all forms of human
communication that are not verbal,
(A)  Prosody
(B) Intonation
(C) Paralanguage
(D)} Wecalics

Mame the psycholinguist who gave the
theory of operant conditioning to study
learning process -

(A) Skinner

(B) Thomdike

(C) Piaget

(D) Bloom

Looking quickly over a textbook to get
a general or superficial idea of the
content is called -

(A) scanning
(B) extensive reading
(C) intensive reading
(D)  skimming

A workshop is meant for -

(A) Hands-on-experience

(B) Listening to the scholarly lectures
(C) Learning through interaction

(D) Discussing one's own new work

Fill in the blanks with the most
appropriate infinitive in the given
sentence =

We get vaccinated
(A) to avold

(B) to cure

(C) to keep off
(D) both (A) and (B)

smalipox.
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53.

55,

56,

Name the underlined part in the following
sentence-

Let's go to the beach, shall we?

(A) apostrophe

(B) Interrogative remark

(C) question tag

(D) gerund

To call a spade a spade’ - means-
(A) hurt someone

(B) speak straight forward

(C) bully somebody

(D) expose the reality

Change the degree of given superiative
sentence to positive- '
Mumbai is the best seaport In India.
(A) Mumbai is better than any sea
port in India,

No seaport is as good as Mumbai
in India.

No other seaport in India is so
good as Mumbai.

Mumbai is one of the best
seaports in India.

(8)

(<)

(@)

Put each word in proper order and make
meaningful sentence-

watched/we/pass by/the procession

(A) We watched the pass by
procession.
(B) We watched the procession pass

by.
(C) The procession we watched pass
by.

(D) Pass by the procession we watch.

SET-C

[17]

ar.

XXI-2
Select the word closest in meaning to
the underlined idiom-
It is mean to crow over a fallen foe.
(A) tokil
{B) totriumph over
(C) toargue upon
(D) to scold

Select the grammatically correct
staternent from the following -

{(A) They wished me to drink with
them, but which [ denied.

Da not forget his enthusiasm who
browght this movement so far.

I met him on last Friday.

This is the man who I talked about
this moming.

(B)

(C)
()

Direction (Q.No. 59) : Change the sentence

59.

into passive -

‘Some boys were helping the wounded
—

(A) Some boys helped the wounded

Mmidin.

(B} The wounded man was being
helped by some boys.
The wounded man has been
helped by some boys.
The wounded man is being helped

by some boys.

(C)

(D)

Choose the correctly spelt word in the
following -

(A) conssumate

(B) incomigible

(C) benefection

(D) dilligent

P.T.O.
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61.

62.

63.

65.

e il - fsh

XXI-2

Fr=fufiea 9 ¥ #9930 -
T oF amenfie =t #2

(A) ERE Fa

(B} 3mn Tl

(C) &9

(D) o1 &g

AT fvaror & R % areeg me &
(A) wmguT freror & a5 e
Hiftrs et & o 2 2
(B) QW W HEU I{E0E &

B WERES W e
(C) T & 7+r-ufe & o e
B AT e s sawam #)
(0) Te o & wigphe TEm 3
HIHTST @1 Wl e =g g a2l

G e e R s
T [ s e

(A) Hami 7 w=l & wen e @

(B) wrml & o &

(C) ol & fFmfor &

(D) 39w # & 2§ &

FUET B forEd T SR & T Al
g &1 g8 few s & T 2

(A) FEefaean

(B) fEwmiiman

(C) Ferbrafoa
(D) it

i & AN -

(A) wraT 3RTEROT W & ARl T #
(B) T IrE= § WIS & TF HeM
el

T # earen fernera @ wiE 2w 2l
uites &ear srasng 2 2

(C)
(&)

SET-C
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6.

67.

B9,

f0.

SEn-l :

: At o - # v
(A) M & Praw Ryan o

(B) Wl W W wEmEm e -
(C) oo wies 3k e & w3
(B) TEE-TES @ Wy e dew

T I @ IR O 2 O =he § wma
BI' A 1 am W, A ws A

(a) Forom

(B) =W

(C) fommm-fagam

(D) EeEerdmes

Jar A UTHE ® e e TR
G IR T

(A) ST

(B} EemEmEE

(C) 3R

(D) e

I B8 aan, Ur T fifies T
T PUR T, EAl el Bt a8 ||’

e it § s g &
(A) e
(B) <
(C) amaf
(D) S=igan

k40t THE
(F B 1.
(=) g 2, ﬁ
(m wfafs TG, [ 141 1
(T) RO 4,
L Ll T 1 3

® (@ (m @
(A) 2 3 1 4
(B) 4 3 1 2
(c) 2 1 3 4
(D} 4 1 3 2
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Py : Peaffin oin @ ggaw O e Wl

71.

7.

(wesy s 71 @ 75 TR6) & Wit afm
o et Rreg @1 age 0w

Rt o s siar & A 3 e
anfl asifey oft) cafy e arefAa i i R
5 e A w3 R s &
o s ez % s B A1 ReRiR
a1 Recyodft g aE av o W wnl o
fam Bft Rt & ow gae o R
meA o Flfd @ T e ol ol
ferafirf v & 3t i @, gt swad
Tiifas wfirafs G O sy § e 6
# wavaw g &, i @ T
wmitfirefee W 3 dar & Bfler woil
59 o= et @ v e Reghdt &
5 w0 3 Pt g SRR & W
foran ae Refddy & <efifs =0 o ol
o el st ool & Wi &
- g far & wfiefs A il
wite st | wele Im dvaw st sk
Fearfert &t oo =+ &t &, & =) weftm
ot afit et = b sfiere o d

ey wm #2

(A) T wew @ Bitag e

(B) fh Ruft & fry wrn

(C) =it we ot Jaemaz Rt g
wfr

(D) Tl wen w oRtfeerf & wwaw

el

ol & snfrer & wifts v g o
qag? |

(A) qFFS-AEYE &

(B) TaRE &7 8

(C) =mr & fowm &

(D) sifias sfafs

SET-C

[19]

73.

74,

75.

76.

AXI-2

‘3t ot v Redven @

(A) T et o il sfiefs
(B) Tl & gro sEATEE waE

(€) anpt Frard o sebfim sfiefs
(o) udren @ f wd =

Femfeftr & Frrm % v e &

(n) Frafefa & g siffzdmrd = avF
|

(8) Ferafef & widw wen fadee & e

2l

(C) Feraff seged Rl o s &
&l

(D) Feraferfy & v v frdm ¥

B 21

‘siffgdrodt & R s o R

(a) sifftdmodt fedroet = fashm wa
&

(B) siEdums wite amwn W enRa
(]

(C) il # wee Twdi & W
# Tha #

(D) siifEmrms: =i w Fecian Bl &)

W & R ot # -

(A) aeF, G, g, e
(B) UG, &R, T, WHEA
(C) . foremn, demn, &
(0) o, der, wge, Fren

P.T.O.
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1. Fvg o adema ot (A) 91 37 35 fow om o o
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Fee T 8| TS WNfH wae adja
(8 i B & @ & W 81 59 sfaam B
(C) FH T F OBRN FRaE @ e
{B) MRgAG W-gfe & W TR e T A
' e 3R Fafe g 21 Fire vow R e
80. =1 @ wAke Bifte - TS & 30 THR & N g2d W aeE
b s WEGTE B 39 3 Wi an s ah
(&) =eff 1. & oiee T e @ Owa & TR o
(w) wela 2. I e Wi Aieed s i fim-fim i,
(M wAE 3. T MR a1 7 B W & = S ol
(@) uaw 4, o 3T =R 3 T anfiw it & & oftfe
(@ (@ (m W 2, = =it 3 =t & | e @
(A 4 2 1 3 TS & A Y A e il g
(B) 3 1 4 2 3 T B, TS R wE B g W
€ 2 1 3 4 AT W ) I e B e & B
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85.

yodfes i & argon I aee #

(A) =7 3 wiEens 3R gEa oRw
VTS|

(B) oA IFE WURWE @ 3R g aRE
WA |

(C) ma 3R g Dl 3RS rIRs #)

(0) sma 3R gEa 2 IR s #

form sl sl soRt A s @ oo
afam qn & &, 3 ¥ e &

(A) ¥ wa

(8) v o

(A) Tm & mity =

(8) FiEa 4 gaE wa ol

(C) &30 BT

(D) =T = ArE wEra aE-gfi o)
afiud T

A TSR &t 39 f @2

(A) e afen-wean ss-aen & & 8 o

(8) = wfts @ s weEn & o6
& @

(C) = = Wi Wm-few & g
& T

() T v il & wlied & g Iy

W& sl & Wer ot ave TR ¥
it @eY ¥ SR s g e
. .

() Frig

(B) @fam

(C) wmor

(D) FodweEs W

SET-C
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Ba.

89.

XXI-2
e fem o o o @7
(A) arGi
(B) wrEh

(C) wpfmren
(D) a

wwNE-ad B W ST T o
T & T

(A) s, mee, wwwE, oty
(6) ¥mfEw, i, @et, e

(C) mee, dremites, 3, S
(D) wulms, 3, SR, e

w4 T ¥ o 6 aR am e € A
# 3o wrh % Tw and ) gw T § W
&
() P adm, wom 09, W
qus
(B) UFEEE WH, WOW 0F§, HET
q
(€) Freauares wdm, ¥ =, WU
RN
(D) yFTEEE FEmW, JoW g, fuer
| W R W '

fiftrm o) SR o e wm @2

(n) Fm g

(B) Fremry weme first
(C) Tias YEE TR
(D) Fmwl = R

F-an'-
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Second Language - English _ XXI1-2

Direction (Q. No. 61) : Choose the
correctly spelt word from the options
given below -

61. (A) Pamralel
(B) Parraliel
(C) Parallal
(D) Paralel

Direction (Q. No. 62 -63) : In the following
questions, some parts of a sentence
have been jumbled up. Rearrange these
parts which are labelled as PQ,R,S to
produce the correct sentence.

62. Each culture
P : flourishes when it comes
Q : own tradition and et
R : draws strength from its
5 @ into contact with others
(A) RQPS
(B) SPQR
(C) RPQs
(D) sqQPm

63. Summer vacation

P that their children learn something
worthwhile

Q: who are able to provide services
for anxious parents

R: who want to make sure

S: has become a big business for
those

(A) PRQS

(B) SQRP

(C) PQORS

(D) SRQP

SET-C

Direction (Q. No. 64 to 68) : Read the

Passage given below and answer the
questions that follow by selecting the
most appropriate option.

The supervisor would have to change
his attitude towards people first. The
staff under him must be perceived as
human beings with feelings and needs.
‘They are not automations within a
complex work machinery’. One of the
greatest needs of today's worker is to
have a feeling that he is in control of
his work place and not vice-versa. The
best way is to satisfy this need as far
as possible. He must feel firstly, that
his work is meaningful. To do this, the
supervisor must delegate responsibility
and limited authority for the man to
execute his job well.

The subordinate must be properly
trained to assume responsibility and
authority. Once he is ready to assume
these he can be made accountable for
his job. Very often supervisors assume
all responsibility and accountability for
fear of losing control of the workplace,
This makes workers under him pawns in
a8 vast chessboard. Delegating
accountability gives the worker a
purpase in life and the need to do a job
well. Most important is to sit with each
worker and chalk out common
objectives and agreed norms to achieve
them. This gives workers a security as
to what is expected of them, When he
has met his objectives, he certainly has
a feeling of achievement. This feeling
of achievement is the greatest
motivator

Fcarrwd wiEth ComTomeer



65.

67.

A human attitude on the part of the

supervisor towards his staff is necessary

m -

(A) getthem to work.

(B) keep them happy.

(C) have a congenlal atmosphere at
workplace,

(D) get the best out of them.

Responsibility and accountability make
a worker -

(A) shirk his duties

(B) do his job properly

(C) tense and frigtened

(D) wvulnerable before his supervisors

Supervisors do not delegate responsibility

and authority to their subordinates

because -

(A) subordinates are not capable
enough.

(B) they can'ttrusttheir subordinates.

(C) they are apprehensive of losing
their hold on the place of work.

(D) final responsibility is their's,

The author's motive Is to -
(A) suggest a solution

(B) criticise the supervisor
(C) criticise the workers
(D) write a balanced article

Pick out a word from the passage that
means 'to understand or think of
something in a particular way' -

(A) Delegate

(B) Perceive

(C) Purpose

(D) Noms

SET-C

XXI-2

Direction (Q. No. 69 to 73) : Read the

passage given below and answer the
questions that follow by selecting the
maost appropriate option.

Experiments with the sulfonamides
have made clear a fact about germs
which is gaining increasing importance
in fighting them. Germs, it seems, have
the same ability as all the other living
things gradually to change
themselves to sult new conditions. But,
as the generation of germs lasts only
twanty, twenty-five or thirty minutes,
before all the germs divide to form new
ones, changes, that would take many
years in animals, can be achieved by
germs In a few hours. Perhaps then you
give the attacking germ a dose of
sulfonamides which upsets them
somewhat but is not strong enough to
prevent them from multiplying; if so,
they very rapidly develop new powers
which enable them to resist the effects
of the drug. After this has happened,
even the strongest dose will fail to
disturb them.

Experiments with sulfonamides have led

to the Important discovery that-

(A) germs are living things, and can
change themselves to suit new
conditions.

(B) one generation of germs lasts only
twenty, twenty-five or thirty
minutes.

(C) germs can adjust themselves to
live and multiply in new conditions.

(D) germs are not disturbed even by
the strongest possible dose of
sulfonamides.

P.T.0.
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70.

1.

Like all other living things, germs can
change themselves to sult new
conditions. This adjustment Is possible
because the germs have -

(A) the power of Muctuation.

(B) the power of compliance,

{C) the power of adoptability.

(D) the power of adaptability,

Since germs can change themselves to
suit new conditions, the task of fighting
them has become -

(A) absolutely impossible.

(B) much easier,

(C) much more difficult,

(D) increasingly important.

Germs, which are not disturbed even
by the strongest possible dose of the
sulfonamides, are said to have become-
(A) immortal

(B) immune

(C) improvised

(D) immobile

One generation of germs expires, bringing
into existence the next generation-
(A} intwenty minutes

(B} in twenty-five minutes

(C) in not more than half an hour

(D) in a few hours

SET-C

XXI-2

74.  Which of the following are productive

skills ?

(A) Speaking & Writing
(B) Listening & Reading
(C) Ustening B Speaking
(D) Reading & Writing

Learning a language is -

(A) a science

(B) an art and a science

(C) an art and not a science

(D) none of these

The goal of grammar instruction is to
enable students to carry out their
communication purposes. This goal has
three implications. Which one of the
following is NOT one of tham?

(A) Students need overt instruction
that connects grammar points
with larger communication
contexts.

(B) Students should master every
aspect of each grammar point.

(C) Error correction is not always the
instructor's first responsibility.

(D) Students should master only those

aspects that are relevant to the
immediate communication task.
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77. Teaching alds such as Charts, Maps,

79.

Pictures and Drawings should be used
by teachers as they -
Prepare students mentally
2. Motivate for further preparation
Are not expensive
Only (1)
(1) and (2)
(2) and (3)
All of these

(A)
(B)
(C)
(D)

When language is leamt naturally and
without any systematic practice then
it is called as -

(A)
(B)
(C)
(D)

first language
dearth
acquisition
erudition

The aim of remedial teaching programme

is to provide -

1. learning support to pupils who lag
for behind their counterparts in
school performance.

2. systematic training to develop

pupils generic skills,

Only (1)

Only (2)

Both (1) and (2)

(A)
(8)
{C)

(D) None of the above

SET-C

[25]

AXI-2

Direction {Q. No. 80 -81) : Choose the most

80.

Bl.

sultable option and fill in the blanks.

___darkest cloud has ____ silver lining.
(A} The, the

(B) A, the

(C} A, a

(D) The, a

English is ___ language of ___ people
of England.

(A) the, a

(B) the, the

(C) aa

(D) a, the

Direction (Q. No. 82) : Fill in the blank

82.

choosing correct preposition.
I am taller than you
(A} from

(B) by

(C) with

(D) none of these

two inches.

Direction (Q. No. B3) : Choose the most

suitable sentence which conveys the
exact meaning In accordance with the
correct grammatical rules,

(A) He cannot succeed unless he does
not work hard.

He cannot succeed unless he
worked hard.

He cannot succeed unless he did
not work hard.

He cannot succeed unless he
works hard.

(B)

(€)

(0)

F-T-u'i
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Direction (Q. No. 84) : Choose the

correct option and Fll in the blank with
appropriate co-ordinating conjunction.
He is very intelligent __ careless.
(A) and
(B) but
() or
(D) as well as

Direction (Q. No. 85) : Fill in the blank with

85.

suitable form of verb,

Let's wait till he his work.
(A) finish

(B) will finish

(C) isfinishing

(D} finishes

Direction (Q. No. B6) : Choose among the

options, which mean the same as the
italicized part.
If you begin your studies at the eleventh

~ hour, you cannot be sure to pass.

(A) atthe last moment
(B) at eleven o'clock
(C) inthe beginning
(D} after the exams

Direction (Q. No. 87) : Fill in the blank

87,

choosing appropriate homophone,
These grapes are ____,

(A) sore

(B) sour

(C) soar

(D} none of these

SET-C

[26]

XXI-2
Direction (Q. No. 88) : Choose the most
suitable word for the given phrase.

B8. A person who hates mankind -
(A) philanthropist
(B) existentialist
(C) misanthropist
(D) none of these

Direction (Q. No. 89) : In following guestion,
a sentence has been given in Indirect
speech. Out of the four alternatives
suggested, select the one which best
expresses the same sentence in Direct
speech.

89. Shalu told him that he should work hard.

(A) Shalu said, "He should work hard"'.

(B} Shalu sald, " You should work
hard™.

(C) Shalu told, "He should work hard",

(D) Shalu told, "You should work
hard”™.

Direction (Q. No. 90) : From the given
options, select the one which is opposite
in meaning to the word given In
capitals,

90. DOCILE

(A) decent
(B) angry
(C) mannered
(D)  stubborn
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61.

62.

63.

65.

i i - Wpa

XXI-2

(a) wogpowm 1. OvdERo
(b) omE-uM 2. iR
(c) ww-dlE 3. wEmeEiEe
(d) iR 4. IR
T (a) (b) (c) (d)

Ay 1 2 3 4

|8 2 1 3
© 3 4 2
o 3 2
(a) EW

(8) =M

(c) ¥

(o) Fomg

THFAasEa B @a aul: wafar
(A) <Iad

() W

(C) wEmlEn

(D) Famfe

s g g g @ s
(A) Fe-famfe

() wwm-fafes

() fisiren-farsfes

(D) ai-ffen

wiRed Wy i - o v
RS TE-

(B) ECEEET

(B) femarsi-tag

(C) A=

(D) b

SET-C

66.

67.

71.

e srefmiE-ofEn @ dlnda
THELE?
(A) VIO
(8) wEvE
(C) uwsa+
(D) B

wirnfinant vpr-srereTE -
(A) = waf

() Tl wafy

(C) wafa

(D) wEETE

amee difgs fem-gem i
Fermen: Tz @ wae ¢

(A) T

(B) e

(C) =gs™I

(D) SE=EREM

wepavm- e TSl o WERR TN
womd: A, of e & o -
(A) SO BR] WG4

- (B) wiiftes it @ avg o

(C) T wedq

(D) sfint o gt

w0, % -

(A) TR bl

(8) T s smfi

() e w=ema: wat

(D) ww-Fmfe: oo k)

(A) orn, Fraftaeior @ g e

(B) R fhemmdsee |

(€) wagwrmel wadedy s o)

(D) "B fewdy sEmey s,
s o M ¥ Jarg:” Tl
W S|
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e PR e R -

sheftern s wwnfismme
R arivat mEl s R
WEWTS: WWRREES: W oa mwnd)
sty | e s s e W
TsadiyE| vl v A
TT: EH W WA e
femerameror wfed awre et
e vy Rrge ami)

e sted: mrgew,  fge,
BIRTETRI | ATE- TR - - R
foare: sw wwmfem:  ame)
refdag: pfeftemy = wfw
v sl o of
T e v Rige o s

(D) uTEEn:

Fdw « (wem s 76-79)- st meenfam

T T e R -

g e sft wrm
it ey o Mo Tar
el wifds foi froe dugd
mferereren qanfritam nfs: g
Formivarstl amgmeg: T weraT 3T gEEA,
W HepaaieeaTa WY AR el
pe: e SR e R

- it wpT fugd Reediogeas

it Wit fefagam.

72. I TOEE GRT AR Gaw-

73,

74,

(A) wmaf
(B) Sgsmen

(C) wm
(D) smEn

B T e A e Ee

WA HTEms?
(A) WHEEZA
(B) usgEET
(C) sedw
(D) g F

HEAT Feie O R - i

(A) 'TIE FRS, WIS, THEE
(B) Ffufes awr, g, e
(C) Imifely AR, wmgEy, THaTH

(D) ‘TS TR, WUAYW, U

SET-C

o WY g SRR
e fug e e
ol el Bfemshs samn

76. HognE #hE-
(a) wiftpmmam
(8) Hftesramy
(C) WwTany
(D) forEmmEm

77. YEFE gt v TR fos grie
(n) gfef
(B) zmEmfy
(C) = wadt &
(D) = 1o
78. w gl wewn waEl sfe
(A) i
(B) uq
(C) wra
(D) e
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79, g e i R

B0.

81.

82.

(A) WEmgRY:
(B) IT=ftd Wy

(C) W

(D) aEEEA: W
(A) W

(8) uxgi

(C) T

(D) MeddE

o mﬁmmq?wﬁzﬁa
(A) smawd: s

(8) e et @

(C) smard: smer urgf

(D) 3mard: wRTER Ry

Fiee: w4 waf & o i kem- sl
TR T JagEsi-

(A) T

(8) Hugmy

(C) FrepmEes

(D) TgEeH

T saiee s fooe w=
s -

(A) BIE-HIw:

(B) WiE:

(c) fefeud

(D) i

‘o Tl g
(A) wET-T):

(B) =55H-TA:
() faed-wrd:
(D) ¥&E-F:
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. T S e

(A) wed

(B) ==
(C) s
(o) e

(A) Tomlg
(B) FvEwIE
(cy dAferrmtme
(D) P

. TEawTe s sara?

CYIRE
(B) s
(C) zwen
(D) TEHEEW

(A) T
(B) YR
(C) Tt
(D) wT=ER:

FAf-

(A) siferam
(8) afera
(C) wfer=:
(D) iferam

. g oy g an @ Rl 2

(A) it
(8) fifran
(C) e
(D) e
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ftva vd Re= XXI-2
Mathematics and Science

g91. The line x+y=0 passes through which
‘ =0 = # % B weeby ot
B of the following quadrant/quadrants -
W e ¢ (A) IV quadrant only
(A ﬁ " jt (B) 1l quadrant only
{2: & I:: m (C) 1 &IV quadrants
:D'_i 1 & 11 gt (D) 1&II quadrants
Eiris it W 92. On dividing a number by 5, we get 3 as
= e . ﬂ ﬂn;ﬁ;’tﬁz 2 : a remainder. What will be the remainder
W 1 Y - when the square of this number is
& o vy T E? divided by 57
(A) O (&) 0
(B) 1 @ 1
(Cy 3 (C) 3
(D) 4 (D) 4
93. T 40% T AR X, 50% M FEER 93. If 40% of the people read newspaper
y 3 10% &@m 25 FEar o £ @ X, 50% read newspaper ¥ and 10% read
sy wivwa @ &= 4 @ 0 AR both the newspaper, l:hedn vtrtl:.la'l:
el L percentage of the people read neither
(A) 10% _ of the newspaper?
(B) 15% (A) 10%
C) 2% (B) 15%
(= {(C) 205
(D) 25% ©) 25%
o4, P @ o= d@en -'g el % ¥ & 94, Which of the following numbers does
H a8 &2 not lie between %and%?
=17
() 5% -17
24 (A) 53
5
B) = 5
i . ® %
!3 23
© % © 3
=11
© 1 © U

SET-C [36]
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o5.

97.

98.

A ade v & g, 7@ & vl g W
aferer & -
(A) 20%
(B) 33%
(C} 4%
(D) 66%

aft o o @ v %, 1 EE 12 dos 2 6
y T AA # -
Ay 1 fFe
By 2 fFe
() 12 B
(D) 1/4 FEE

FrmeRmidaRogma s ddix sl
vﬁiﬂﬂmﬁm—

@

x=-2y =10
y-2x=10
X + 2y = 270°
¥+ 2y = 360°

(A)
()
(€
(e

e x, zES0% B ARy, z 9 25%
a1 &, @ %, y ¥ feem wlowa @ g
(A) 20%
(B) 25%
(C) 50%
(D) 75%

SET-C

[37]

95.

96,

97.

98.

XXI1-2
'Buy three, get two free'. What is the
percentage of discount being offered

here?

20%,
33%
0N
65%

(A)
(8)
(C)
(D)

If v%% of one hour is equal to 1 minute
and 12 second, then the value of y is -
(A)
(B)
(€
(D)

1 minute
2 minute
1/2 minute

1/4 minute

In given figure, if O is the centre of

circle, then relation between x and vy

will be -

(A) x-2y=0
(B y-2x=0
(Cy =+ 2y=270°

(D) x+ 2y = 360°

If x is 50% greater than z and y is 25%
greater than z, then by what percentage

* will be greater than y ?
(A} 20%
(B) 25%
(C) 50%
(D) 75%

P.T.O.
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09,

100.

101.

102.

B
g p+q=10 3K pg=5 &, & — + a G|

q p
H= EI-
(A) 16
(B} 18
(c) 20
(D) 22

feit g g & uftgw Fremn il siaew
Firmen & s @

(A)
(B) 3:1
(C) 2:1
(D)

Jz2

1:3

medis & fisw vEe & wim e s @
FE UF HANE O¥ griaa o 8 o
B & fte # e svare g ww o #
AR e W gHim T & e e
ity fafare &2

(A) demn

(B) TTEET@l

(c) fasaweiraan

(0) Faran

S T 0T HEe o mieas Aeed el
2| Ze it 2 Heit wHeas & e
& TG el IR -

(A) .
(B) yvamerd ¥ wdiim anema
(c) P e (gem) & foe wee
() Ferms Bam

SET-C

[38]

99.

100.

101.

102,

XXI-2
If p+q=10 and pg=5, then the value of
Foq
=+ = will ba-

q p
{A) 16

(B) 18
(C) 20
(D) 22

The ratio of circumradius and inradius
of an equilateral triangle will be -

(A)
(B)
(C)
ey

1:2
3:il
2:1

1:3

Which aspect of evaluation Is used

when a teacher ensures that students
complete an exercise Iin mathematics
and also makes sure that instructions
are clear and specific?

(A) Validity

(B) Practicality

(C) Reliability

(0} Consistency

A student face difficulty in rnathemgtics
learning. The best remedy for his
problems related with learning is-

(A}
(B)
(C)
(L)

Suggestion for hard work
Supervised study in library
Sugaestion for private tuition

Diagnastic teaching

Farrvd with CamTree e



103, ﬂﬁmﬁrmﬁﬁwmwﬁ%ﬂinﬁm

104,

105,

106.

@ A ey #-
(A) mﬁﬁﬁmﬁmﬁrﬁm‘rﬁmﬁw
wigtamr =)

(B) Bt B sEwE Bl @ whnem
a1

(C) weE # arnfamy amwm
(0) ol & Wi s s

UH e waE S wl Rt § afie
¥ H A &, 98 T &

(A) &=

(B) Tmm

(C) iwmrEve

(0) fag

14 9. WS 9 o o i oeR Wiy T
(A) 616 3.

(B) 308 ¥R,

(C) 154 &,

(D) 196 FR.

B T 2:30 pm W OB SR ERIET 60
fedt. . 2t nfer & s &1 A9 @ ua
3.00 pm W T # 3 SR Wi g
BN W 75 i &l ¥ s g
T 2] 98 OR © 59 ues g

(A) 4:30pm

(B) 4:45pm

(C) 5:00pm

(D) 5:15pm

SET-C

[39]

XXI1-2

103. The basic aim of Heuristic strategy in

104,

105,

teaching of mathematics js-

{A) Totrain students in scientific way
of learning,

(B) To train students in observation
skills,

(C) To enhance self confidence in
students,

(Y To enhance memaory |level of

students,

A flat surface which extends indef nitely
in all directions s called a-

(A}
(B)
(C)
(D)

Plane
Line

Line segment
Foint

Area of the greatest circle inscribed
inslde a square of side 14 ¢m is-

(A) 616cm?

(B) 308 om?

(C) 154em? ,

(D) 196 cm?

106, A thief steals a car at 2:30 pm and

drives it at 60 km/h. The theft is
discovered at 3.00 pm and the owner
sets off in another car at 75 kmy/h. When
will he overtake the thief?

(A)
()
()
(o)

4:30 pm
4:45 pm
5:00 pm
5:15pm

P.T.O.
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XXI-2
107. A person Incurs 5% loss by selling a
watch for ¥ 1140. At what price should

107. T Tith ® 0w W T 1140 F #7 W 5%
B9 WIET G 9EA #1 5% B o i

uft w5 ofme oy dwen ey the watch be sold to earn 5% profit?
(A) ¥ 1140 (A) T1140
(B) T 1197 (B) T1197
(C) T 1254 (C) T1254
(D) T 1260 (D) T1260

One of the internal angle of a paralisogram
is 307 less than the double of the smallest
angle. Then its greatest internal angle

108. U A SN o o Hiaks @ ol 108
wad o wor & Y @ 300 W o

¥ T a9 RS Bor S will be-

(A) 70° () 70°
(8) 100° (B) 100°
(C) 1100 (C) 110¢
(D) 170° ©) 1n

109, Calculate the value of x if the arithmetic

109. x @ "M wm oifte o 9 B 0 e
mean of the following data is zero-

W w9
r— ﬂlﬁ'— Numbers Frequency
t3 B u+3 3
¥—7 7 s ’
x4 11 x I

") o (&) 8

B 7 )y 7

© 21 @ 4

D) 4 o) 4

110, 9% oF O @ wow e A I &

A A TS g ag-

(A) 800%
(B) 900%
(C) 2600%
(D) 2700%

SET-C

[40]

110.

If each side of a cube is trippled, then
Its volume is increases by-

(A) B00%

(B) 900%

(C) 2600%

(D) 2700%
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111, 0% §z o o 20 AW, = 10 W x 7.5

112,

WA 2W x2M x075 &
ot Saw a=ey i el § aifp

(A)
(B)

10,000
15,000
(€)
(D)

20,000

25,000

= = TR D awm W @ E
3 a5 3 e o gl 5 A, 6 A, sl
7 9. #1 et o Proamd wemy -

(A) 2%, 230, 4 3f

(B) 3%, 4 3h, 1 3f

(C) 2.5%., 338, 2.5 ¥,

(D) 130, 2 3., 4 30,
113, % Iaﬁ 3R %_mn. -
(A) ;
(B) %
(C) g—
(D) 1—52'
SET-C

[41]

XXI1-2

111. A brick measures 20cm = 10 cm % 7.5

112.

113,

cm. How many bricks will be required
forawall 20m x 2 m x 0.75 m?

(A)
(B)
(C)

10,000
15,000
20,000

(D) 25,000

Three circles touch each other externally.
The distance between their centres is
5 cm, 6 cm and 7 cm. Find the radii of
the circles -

(A) 2cm, 3 cm, 4 cm

(B) 3em,4¢cm,1cm

(C) 2.5am,3om,3.5cm

(D) 1om,2cm,4cm

2 3

LMol =, —
TR

4
and 15 is -

(A)

i

al=

(E)

(C)

| wo

l.ﬂl:

(Do)

P.T.O.

Farevd with CamTree s



114, @ geit @ o of e | aftes naPes

et Y o v aage, AR A ga
o g B e e -

(A) 1

® 2

(€ 3

(D) 4

Frdm (m.d 115 - 116) : Preaftfes of of &
fafirm 2wt & o o wiedt & e & vk

man # o weOgw B vd uesEl & TR
el

115.

116.

e udes dem = 20 HrE

.77, yifE 3R IO 9 A9 98 wheE

& s # e s @
(A). 2 @9
(8) 3"
(C) 479
(D) 10 o

of% = & ) o wiest & s arh
g ot & omfts g wiedl & dem T
= ¢, @ fad= & odewt & e Fm @
peta

(A) 20°

(8) 36°

() 72

(D) 1200

SET-C

[42]

XXI1-2

114, Maximum number of commaon tangents

drawn to two circles when both the
circles touch each other externally is-
(A) 1
(B) 2
(C) 3
(D) 4

Directions (Q.No. 115 - 116) : Study the
following pie chart carefully and answer the
questions based on it. It consists of data on
tourist arrival from different countries.

Total tourist traffic = 20 Lakhs

115. The difference between tourist
numbers from USA and Japan is-
(A) 2Lakhs
(B) 3 Lakhs
{(C) 4 Lakhs
(D) 10 Lakhs

116. If the number of tourists from U.K.
doubles up while the total remains the
same, then the new angle extended by
the tourists from U.K. will be-

(A) 200
(8) 36°
() 72
(D) 120°
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117, Pr=fofia B Bftdl & fe ol Pe

(P)
(Q)

(R)
(S)

118.

119.

120.

qfe -

fineroy fafty smnftn frgm=n

fereteor faftr (I) STPFTRAS w6

weemo fafd (i) &=, o o

T

wenfs fafis (1) o W

warmeme B&fr vy FPeeees @b
P Q R S

(A) I T W m

(B) W 1 o m

© ! W n m

o v 1 m Il

1w FveEm & AT 380 oW St

$-

IS I W

wowr @ wpky & -
(A) FEE®

(B) afdss

(C) =ie=

(D) v ¥ fiw =

A fedi 8:35 am W v W A
el Ripmm w129, 158 7
18 9. a2 A oo €, @ & ot A
R # ow wa wsidh-

(A) 8.38am T

(B) 8:40 am W

(C) 8:42amW|

(D) 11:30am|

SET-C
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117.

(P)
(Q)
(R)
(5)

118.

119.

120.

XXI-2

Choose the correct match for the
following teaching methods =

Teaching method Based on
principle

Analyticmethod (I) Inductive
reasoning

Synthetic (II}) See, hear and

method understand

Demonstration (I11) Learning by

method doing

Laboratory (IV) Deductive

method reasoning

P Q R S

(Aa) 1 1] v Im

B) Iv 1 1 Im

(€I N 1 I

D) v 1 I n

Brain-storming strategy in mathematics
teaching is based on -

(A) Psychological principles

(B) Problem solving principles

(C) Creative thinking

(D) All of the above

The nature of mathematics is -
(A) Analogical

(B) Logical

(C) Difficult

(D) Not for common

Three bells start ringing together at
8:35 am. If they ring after 12 s, 15 s
and 1B s respectively each time, the
next time they will toll together at-
(A) B.38am

(B) 8:40am

(C) 8:42am

(D) 11:30am

P.T.O.
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121, ot s 3 o o v @ aften

122,

123.

124.

A B O e @ s @) ol
T ) ez @ @1 gw s
# gfis om & Fo=r & 9 aite wew @
(A) g @ ™

(8) gt diifivem

(C) 3eRIH

(D) R

FestEl B o Tl ) fewr m @
T T IR AW E -

(A) woes

(B) wariw

(C) §Hs
(D) smUzE

Tyt v W fem s @ A
fean e #t=-w gt aiwla IR @
g?
(A)
(B)
(C)
(D)

faar= Finegor & fise faftn 31 o o sms
& = § & o &2

(n) R R

(B) weef= faft

(c) drern faft

(D) =rem= faftr

SET-C

[44]

XXI-2

121. Too much of acid in our stomach causes

122,

123,

124,

indigestion. Sometimes indigestion is
painful. To relieve from this indigestion,
which of the following will be helpful -
(A)
(B)
(C)
(D)

Lemon juice

Milk of magnesia
Agqua regia
Vinegar

Micro-organisms act upon the dead
plants to produce -

(A) Mushrooms

() roughage

(C) humus

(D) decomposers

Which one of the following is not
desired objective of learning of science
at upper primary stage?

(A)
(B)

To acquire essential process skills
To perform better in competitive
examinations

To acquire scientific literacy

To develop rational thinking

<
(D)

In which method of science teaching,
the student works as an explorer?

(A) Heuristic method

(B) Demonstration method

(C) Project method

(D) Lecture method
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125. By # 3 o Rem fieor o oe-wemi
firm? & -

(i) T o
iy T e

iy B weimemen

(M) = (i) T (i)
(B) &= (i) T (iii)
(C) & (i) & (i)
(oy & (1), ) & (i)

126. dmis Bft & wm oo (W) § -
(A) oftwee Fmfo
(B) Twwm ® ham
(C) wam
(0) Fr=td

127. T Frenerdi & R i &t gfaen

suerr 78 &, 3 Frower § v & B

ST wa &6 &g o HeEE @ -
(a) Fram e
(B) Frem gafa

(c) Fm qraEEd
(p) faem T

128, GR-AR SRR et faman mar e
faam & ------ @ TR I
(A) @
(B) TSN
() FeE
(D) Wi =

SET-C

XXI1-2
125. Which of the following are co-curricular
activities in Science teaching —

(i) Science club () Sdence laboratory
(i) Science fair

(A) Only (i) & (ii)
(B) Only (i) & (iii)
(C) Only (1) & (iii}
(D) AN (i), Cil) & (NP
126. The first step of the scientific methed
is-
(A) Formation of Hypothesis
(B) Observation of problem
(C) Experiment
(D} Conclusion

127. The schools which are lacking facilities
of science laboratory, the available
resource for such schools to facilitate

experimentations is -

(A) Science Quiz

(B) Science Documentary
(C) Science Library

(D) Science Kits

128. In science, any repeatedly verifiable
observation becomes & --=="""".
(A) fact
(B) concept
(C) theory
(D) prediction

P.T.O.
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129. et & 3 &t R amo & e v
o o it W suin

(A) B diex
) FF wad
(€) R dwm
(0) fwa s

130. = & % R oo o s @ s
T = = v 2

(A) wnfies o Rita
8) Fha=

(C} oo g
(D) =i & ws

131, well & A wne @ o &
(A) w=T=
(B) rars
(€) #==
(D) wEE

132. 3= & 3% O F TE FAEd 7 32 R
1 W2 wee #
(Ay =i
(8) uftenfam
(C) wftewm (¥E=m
(D) & &=

133, Tf & e A g 27 T 9 aeden
T &-
(A) ¥
(B) AW
(C) gewla
(D) 9=

SET-C

[46]

129,

130.

131.

132,

133,

XXI-2
Which of the following is one of the

maost common applications of chemical
effects of electric current -

(A) electric heater

(B) electric iron

(C) electroplating

(D) electric motor

Which of the following can not be
charged easily by friction?

(A) A plasticrefill

(B) A woollen cloth

{C) Aninflated balloon

(D) A copper rod

The reason for the sweet taste of fruits
is-

(A) Maltose

(B) Ribose

(C) Lactose

(D) Fructose

Name the part of the eye which gives
colour to the eyes -

(A) Cornea
(B) Irs

(C) Retina
(D) Eyelens

The brightest planet in the night sky
is -

(A} Mars

(B) Mercury

(C) Jupiter

(D) Venus
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134. Fr=r 4 & o9 v Tl aer &

(a) i o

(B) vt wm
(C) Teardor &=
(o) Far g am

135, @ s # oRafifa ge e e @ @

@ T & vl @ = #
(A) wuaq

(8) Fydram

(C) Fudfums

(D) Iodem

136. B & @ 5 @ &t o

Wi Ted &

(a) s

(B) TrEAEm
(C) wmErsm
(D) wgeffgar

137. &R 9 o & enifs wfw o & &

=R § T & @ Gafew w &
(A) off=e

(B) uradiss

(C) wmgss

(D) 3Ir=ammg

1. it sR e =

gl igferam % (LPG) weendt #) fefiee
#LPG ta & =y ¥ A 21 Fafder & ame
I # gty A ofiaffa & = 2
(af¥aef= X): ot oft de et o
(wRwd ) Fefefen su g ol
¥ Wt & w8 T & oa fifse-
(A) wnm-X o Tmafs oftads &)
(B) wEH-Y v Triafaw aftadw 8
(C) wbu-X 3R wpw-y 241 & wramis
oRada &
(D) & ¥ & W www verfyE oftads
== &

SET-C

[47]

134.

135.

136,

137.

138.

XXI1-2
Which of the following is a 'Contact
force' =
(A) Muscular force
(B) Magnetic force
(C) Gravitational force
(D) Electrostatic force

The direct change from gas to solid
without changing into liquid state is
called -

(A) Condensation

(B) Deposition

(C) Sublimation

(D) Centrifugation

Which of the following are also known
as "Suicide bags' of a cell -

(A) Plastids

(B): Ribosomes

(C) Lysosomes

(D) Mitochondria

Which gland secretes harmones that
maintain the correct salt balance in the
blood -

(A) Adrenal

(B) Thyroid

(C) Thymus

(D) Pancreas

The gas we use in the kitchen is called
liquified petroleum gas (LPG). In the
cylinder it exist as a liquid. When it
comes out from the cylinder it becomes
a gas (Change-X), then it burns
(Change-Y). The following statements
pertain to these changes. Choose the
correct one -

(A) Process-X is a chemical change,

(B) Process-Y is a chemical change.

(C) Both processes X and Y are
chemical changes.

None of these processes is a
chemical change.

(D)

P.T.O.
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139-mguﬂmmmﬁﬁhqﬁm1wm
enftem o owor oft B & 5 3@ afos
gt &7
(a) ifered=
() dried
(C) werE
(D) AT

140. W aitc o @ Roeer & fwe R o
& gt @ sen & fva A (wm) o
Fudim B &7
(A) TEH WD W
(B) I W
(C) Ta< @l W
(D) & &

141, ot @ & fw qu @ JaEe @ O
aﬂﬁﬁgmﬂ.ﬁumimilmﬂﬂi
¥ g il 7 o @ T w @ 8
TS w g Fsmr & wd O ol S wEE
ﬂmﬁmm#lmﬂrmﬁiﬁ
FEE &
(a) FmmEs
(B) 3w
(c) Fremm
(D) P

[48]

XX1-2

139. Coating of which plastic is used on the

uniforms of firernen to make them flame

resistant?

({A) Polythene

By PVC

(C) Melamine

(D) Bakelite

140. Which zone of flame does a goldsmith
use through metallic blow-pipe for

melting gold and sllver?
(A) Innermost zone
(B) Middlezone

{C) Outermost Zone
(D) Al of these

141. For making 'Paneer’, a few drops of
lemon juice are added to milk as it boils.
This gives a mixture of particles of solid
paneer and a liquid. The paneer is then
separated from mixture by halp of fine
cloth or 2 strainer. This process of
separation is called -

(A) Winnowing .
(B) Sedimentation
{1.'_:} Decantation
{D) Filtration

142. Which Vitamin helps the most in healing
the wound -
(A) Vitamin-A
(B) Vitamin-B
{C) Vitamin-C
(D) Vitamin-D
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143, 3ma Sy wfafe @ ewae oo d W W@
&) zdor men s wiafem & da o gh 4
S #) oft a oo @ 3R 1 e TR
# & amuds af s wfofim i dla @ g
ey
(A) 2 W
(B) 3 MR
(C) 5
(D) 6 W'

144, UF WO TG A O @ IR S a0 (v) A
o (t) ¥ w oREds @ v-t TS T
zofiar 3 GFar &1 v-t TS g ORI TR
gee fow ifte of & Fefm o=
&, 35w IS &

(A) #e=
(B) e
(C) efEE
(D) HeHToE

145, e 4 % fom g # oo F 9w 89 & fowe
fir (aeim) @@ &
- (A) FiEEwE
(B8) Efcfe
(C) 8@
(D) F Wi

146, T oftdw § 89 A ofteda B o
o9 Fiba & §, § sEe &
(A) Ipee
(B) FEIH
(C) Wk

(D) wgEA
SET-C

XXI-2

143. You are observing your image in a plane

mirror. The distance between the mirror

and your image is 4 metre, If you move

1 metre towards the mirror thén the

distance between you and your image

- will be -

(A) 2 metre

(B) 3 metre

(C) 5 metre

(D) 6 metre

144. The variation in velocity (v) with time
(t) for an object moving in a straight

line can be represented by v-t graph.
Area under v-t graph represents a
physical quantity which has the unit -

(A) metre

(B) metre?

(C) metre/second
(D) metre/second?

145. Which of the following animals has gills
to breathe in water -

(A) Octopus
(8) Dolphins
(C) Whales
(D) All of these

146. Changes in our surroundings that make
us respond to them, are called -
(A) adaptation
(B) stimuli
(C) acclimatisation

(D) detection
FIT‘D‘
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147. urg & T A & W F REe & e @

148.

149,

150.

aeom = s # P 4w afte

=g o] & -
() eaffam
() wam
(c) w
(D) =&
fera 4 2wiie SFER B sneg - (ol gaag
& % & ¥ da v & ) @A
W FRftE o= & fen =m &7
_: et Ay
>
v
R
(A) =@ 3R
(B) #® 3R

(C) @t & @R o R I g
(D) =t # Wi B R I g

frme v s s oo d
e T &2

(A) @

() wé=

(C) TwERies
(0) afor o

= 4 3 e wdm a@m ofiwem &
e & o s 8-
M @ (i) Fam
(A) &= (1) 3R (i)
(B) & (ii)

(C) e (i) 3l (i)
(©) = (i), i), (i)

(i} =@

SET-C

147.

148.

149,

150.

XXI-2
The ability of metals to be drawn into
thin wires is called ductility, The most
ductile metal in following is -
(A) Aluminium
() Copper
(C) Gold
(D) Silver

An electron enters 3 magnetic field at
right angles to it, as shown in Figure.
The direction of force acting on the

electron will be -

—
— = Magnetic Fiald
—

v

Electron
(A} to the right

(B) to the left
(C) out of the page
(D) into the page

||

Bile juice helps in the digestion of which
component of food?

(A) Fats

(B) Proteins

(C) Carbohydrates

(D) Minerals

Which of the following also used for
preserving food -
(i} Sugar

(i) Common Sailt
(A) Only (1) & (ii)
(B} Oniy (ii)

(C) Only (ii) & (iii)
(D)  AN(i), (i), (iify

(i) Vinegar
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XXI-2

e Social Studies
91. % 9 @t W Mg WS o 91. Which nf[hgfmmwmg aims of teaching
e & wmafie oo % o # Sodal
e Studies at the secondary stage?
Sl EIEE ey (A)  Physical development '
(B) wivasmifm ‘i;t'ﬂ‘ m fawm (B) Development of democratic values
:E; s afisfes (C) Self expression
wfsR frr (D) Seclal development
92. wia® swaas & e § B 92. What is chief objective of Diagnostic
uierer @ gEn Ry @ 7 testing in social studies teaching?
(A) ®HER o & ggam (A) Identification of weak pupil
(B) v gz v (B) Intelligent pupil
(C) Fams =1 fra (C) Favourite pupil of teacher
{D} ﬁﬁ ﬁ df Hﬂm ED] MNane of the above
93. Diagnostic testing in social science will
93, HMis
o p— mﬁlﬁa ; w Terers help a teacher understand -
il (A) leaming difficulties a student is
(A) o fem & Rl S gl
ey m - = o1 facing in social science.
(B) T‘Tﬁfh e R B & (B) how revision work has helped her
T students.
(€) Faw fmmdl five afemm &) (C) how intelligent her students are.
(D) the part of the topic the student
(D) wawr o ag feemr 5@ Rramedf 3
e qﬁ ml_ #r has not memaorised,
34. Which of the following statements
4. ﬁ!u'i lmﬁli Eﬁ” i;i?:mmﬁnﬁ“m“ about ;ncient manuscripts Is not
correct
(A) @ wrg: a-udi w ferdt g€ off) (A) ;”'lE'ﬁFWEI'E usually written on palm
Fﬂﬁlﬂ 2aves.,
(B) i:‘; ;:r ;L # s § 3 (B) Tl:uer are the primary souces of
the period they reflect.
(C) @ wwfefaa of sk 396 e ofim (C) They were handwritten and then
ol printed.
(D) T8 EwRRE wR g ® T8 (D) Some manuscripts were engraved
A ol on stone or metal.
Frefafag ) 95. Which of the following should not be a
i i @ s wnhe e part of the social science instructional
Frdenes v o1 fem il den afier Do)
(n) T @ gEe (A) Dictation of facts
(B) “ﬁﬂﬁfr o= (B) Feedback mechanism
(c) frarao= (C) Implementation
(D) @ (D) Planning

SET-C ' [51]

P.T.O.
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96, wEaE fbEe & Feor & i & 39 96. What kind of language needs to be used
amht wrn &% g efiw? in soclal sclence teaching?
(A) gl @ wiakfie et ﬁﬁ {A) Representative of dominant groups
(8) (B) Difficult
(C) qm-migf (C) Discriminatory
(D) T s Hasoier (D) Neutral and sensitive
97, T ditow Tias e & v o 97. Suppose the prescribed social science
g fanfiat & foe sl @1 s @ textbook Is difficult for the students.
HN? What will you do?
(a) ffirr wor & o wwiEd w= (&) Provide a wvariety  of
Lol supplementary.
(B) voax S W ad di (B) Emphasise rote learning.
(C) v o o it faewor frearth (C) Dictate summaries of each lesson.
(D) W¥=-J6R TaF-ia @ ggm e (D) Use question answer technique.
9. W swET & sirda pier Feer & 98. The most useful teaching learning
o sl It Fvemor sftmme sl & - material for geography teaching under
(A) =FaE 2 social studies is -
W B E:; time graphs
(©) e (C) Fflash card
(D) e (D) barometer
go. fr=fofies 4§ @ o=-w o, e 99. Which of the following will promote
itz wpal & wrfEne st @ agm dm? social learning of rules, regulations and
(A) uftErsET B vaes ¥
(A) Project work
5 e (8) Group Discussion
(C) Fisemm ogem (C) Reading a book
(D) == o (D) Writing an essay
100. Frfefaa & & @5 @ sofys fee & 100. Which one of the following is not an
Few T &7 aim of Social Science?
(A) Wit amfts a9 & Bl a9 mE (A} Imparting knowledge to become
i) an effective citizen.
(B) wmia® wwEme fatad &l (B) Developing social efficacy.
(C) fnamr Rreram (C) Teaching etiquettes,
(D) wrdsiFrs amel & wm A & PR (D) Developing motivation for
ion faewRE & participating in public affairs.

e [52] P.T.O.
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101, Pr=ifise & o o e ‘iE @ & W

102.

103.

104.

105.

& oiyg -

(A) EF

(B) WETTS

(C) wiE==ED

(D) wiem
Prifes & o depfa & dm mm @)
=t g A o e O oo A
(A) memumET Hepi

(B) el WEphT

(C) TEGTET T

(D) @ HUg Hp

e & B d9w (3R & Ao
& dra e s @ -

(a) s

(B) H¥i®

(C) oA Wi

(D) =

Rifen & o9 ofafom @ oS
'!‘

(A) wdvE

(B) aEfEET

(C) mET

(D) TS

fr=ifon fom v & wmom ar a9 ¥ diz
wa @ et ot e mar -

(A) 211 &

(B) 379§

(C) 415 &=

(D) 645 &t

SET-C

[53]

101.

102.

103.

104,

105.

XXI-2
Which one of the places was famous
as 'Bread Basket' -
(A)
(8)
(C)
(D)

Harappa
Mehargarh
Mohenjodaro
Lothal

People of which one of the following

cultures, for the first time started
living in permanent settlements by
making houses-

(A) Mesolithic culture

(B) Neolithic culture

(C) Chalcolithic culture

(D) Copper hoard culture

Which cne of the following is given the
credit of building the city of Srinagar

(Kashmir) -

{A) Kanishka

(B) Asoka

(C) Chandragupta Maurya
(D) Harsha

Who of the followlng is the writer of
'Panchsiddhantika’ -

(A) Aryabhatt

(B) Varahmihir

(C) Brahmagupta

(D) Charak

In which one of the following years,
Buddhism was declared as state
religion for the first time in China -

(A} 211A.D.

(B) 379A.D.

(C) 415A.D.

(D) 645A.D.

P.T.O.
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106. F=ifeba & @19 W dftreve v o
aftreres mer e @
(A) wwarfor
(8) g
(C) Tmmfor
(D) v

107. 8 vl @ wemaRy www Breife &
e it o -
(A) ;W
(8) e

(C) umzm
(D) v

108, fewelt & Fow geoe 3 ol am
Hitreor fa o -
(A) weEm Ay
(B) wmfem wid
(C) Foammv wivd)y
(D) 3Iws & o =

109. ¥ IWM= & 579 Fretifiss & & fsm
T T g o -
(A) et
(B) wam
(C) wrtm
(D) el

110, s & et 3 it wfiy i ooy wasrat &
Tz fosm -

111. iz 36 Fraifsa fsw osg @ st o

(A) damgR
(B) Tierpoe
(C) e

(D) FEmeTR
SET-C

[54]

XXI-2
106. Which one of the Bodhisatvas is called
the Bodhisatva of future-
(A) Padmapani
(B) Maitreya
(C) Vajrapani
(D) Manjushree

107. Which one of the following was
associated with the Mahodayapuram
State of ninth century-

(A) Chera
(B) Chola
{C} Pandya
(D) Pallava

108. Which of the Delhi Sultan annexed Surki
Sultanate-
(A) Bahlol Lodi
{B) Ibrahim Lodi
(C) Sikandar Lodi
(D) None of the above

109. In which one of the following places,
Saint Ramananda took birth -
(A) Kashi
(B) Prayag
(C) Kannauj
(D) Lakhnauti

110. In how many types the agriculture land
was divided during Akbar's reign -
(A) 2
(B) 4
(C) 6
(D) 8

111. Which of the following kingdom,
BIbl was assoclated with -
(A)  Bijapur
(B) Golkunda
(C) Bidar
(D) - Ahmadnagar

Chand
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112, 98 &9 wm "WRAa o e s & 112. Who was first Indian that used Swaraj
W WA A TS WA W a aW e word to demand Swaraj at the Culcutta
& A o8 4 - session of Congress-
(A) awr e foews (A) Bal Gangadhar Tilak
(8) e RS (B) Daca Bhai Nauroji
(C) T For TEn (C) Gopal Krishna Gokhale
(D) R dwm (D) Firojshah Mehta
113. 1896 % gRmifRmn 3 R ginfa wfts & 113. Which European power was defeated
g fasam o - by Ithiopla in 1896-
(A) e (A) Ttaly
(B) il (B) Hungary
(C) &= _ (C) Denmark
(D) e (D) Sweden
114, ‘¥@ Eom T suer 19 it § 114. Who of the following was associated
4 feedy st o - with the news paper "Al Hilal' -
(A) 3gF HOW AR (A) Abul Kalam Azad
(B) wiwa awt - (B) Shaukat Ali
(C) Hewe el (€) Muhammad Ali
(D) Wawe daasit (D) Badruddin Taiyabii
115, Feifea 4 e diosd & Me ORER 115. Who of the following shot Saunders
& & o - dead-
(A) TIE (A) Rajguru
(B) @LHYER & (B) Batukeshwar Dutt
(C) wma e (C) Bhagat Singh
(D) '@EEH (D) Sukhdev
116. Fr=iiaa # e oitear s e e 116. Who of the following wrote the book
qeas & f fsan an - ' 'India wins freedom’ -
(A) FEE AW AEE (A) Jawahar Lal Nehru
(B) T TR (B) Rajendra Prasad
(C) 3R TEm ISE (C) Abul Kalam Azad
(D) T T ik (D) Subhash Chandra Bose

SET-C [55] P.T.O.

Farevd with CamTree s



117.

118.

119.

120.

121,

= 4 ¥ fvm vRda o= @ A 9F
& T e &

(a) TEwmom wiw

(8) fEr

(C) arvomas wET

(0) ol

Wit v o Tl o) ) &
(A) ThEmd
(B) Fum
(C) wEdH
(D) =Har

ferg e vt =i (1960) & spam wirw
MR SIS F S .
wieTerT (%) I o e

(A) 20

(B) 50

(C) 33

(D) 80

‘gt wue fse & o Rem
(a) TEd
(8) viremd
(C) wErd
(D) e

P 3 & e wd i a8
WA S T
(a) fir T
(B) HFH - W
(C) gumEm - O a2
(D) @ - WO W

SET-C

XXI-2

117. Which of the following Indian state does

118.

119.

120,

121.

not share land boundary with China?
(A) Himachal Pradesh

(B) Bihar

(C) Arunachal Pradesh

(D) Sikikim

The largest river of Peninsular India is-
(A) Godavar

(B) Krishna

(C) Kaver

(D) Namada

According to the regulations of the
Indus Water Treaty (1960), India can
use ........ percent (%) of the total
water carried by the Indus river
system.
(a) 20
(B) 50
(C) 33
(D) 80

‘Dhuandhar falls' is located on river-
(A) Kaver

(B) Godavari

(C) Mahanadi

(D) Narmada

Which of the following is not correctly
matched =

National Park - State
W Rajasthan
(B) Manas Assam
(C) Dudhwa - ypear Pradesh
(D) Kanha = Madhya Pradesh
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122, et i wa F0 farar e et WOHE

123.

124,

125.

126.

ot wum wieen @

Ay vens fErd)

(B) oA Ol

(C) I= g
(D) =i

gl o w9 I S0 g 3 I T
. UWON HEA
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M. M@ Wee
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(A) LI, IIegIv

(8) II I IVEdII

(C) I, IVEd I

(D) I IV, IIICE1

Prer # & @ &t Swofs T smeE
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w5 T

wmraa: aERe § 8 @ o s e
e #-

(A) e ® eni & ol

(B) e #r awi & Pl

(C) widl wh i & o

(D) Tor @ e & ol

Brfufiga % @ ot @ ou7 afEl &

wey A = A 82

(A) @ wiphie w0 & W 29 A ge

#

gt o g v dae g

2l

(c) @ fafim wor & vimPe oftdw @
i dm &

(D) = == Zokes & #

(B)

SET-C
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122.

123.

124,

© 125

126.

XXl1-2
First woman to climb the highest peak
Mt. Everest was-
(A) Edmund Hillary
(B) Bachendri Pal
{C) Junko Tabei
(D)} Phantog

Starting from Earth's surface, the right
sequence is-
I. Stratosphere

II. Troposphere
. lomosphere

IV, Mesosphere

(A) LILHI&IV
(8) ILLIV&II
(C}) LILIVEI
(0 11, IV, III &l

wWhich of the following imaginary line is
not passes through Africa continent?
(A) Tropic of Cancer

(B) Equator

{(C) Tropic of Capricorn

(D) International Date line

Generally blue colour Is used in maps-

(A) For showing water bodies
(B) Forshowing plains

(C) For showing mountains
(D)} For showing plateaus

Which of the following is not true for
minerals?

(A} They are naturally occuring
substances.

They have a definite chemical
composition.

They are formed In different types
of geological environments.

All minerals are non-metallic.

(B)

(<)

(©)

P.T.O.
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127. & & & o W Jum Al 3R O we

128.

129,

130.

o g & @9 Ay g amees S i e
fasar s @-

(A) T&7s fEen

(B) wafam

(c) = o

(D) weirertda F

iz # 4 Brlawor a Preffam §
T Fw §

(A) T &

(B) TS

(C) st R

(D) e weERoT

Frfefaa # 31 o W o0 veR W
o ot o wfiale =8 &

(A) TFwRA

(B) T=oa

(C) 7
(D) oI

Frefufam & @ ot @ Ral & gm
e W S8 dp :

B O W P ==

(A)
(8)
(C)
(D)

SET-C

[58]

127.

128.

130.

XX1-2
Which one of the following methods is
most appropriate to check soil erosion
by wind on coastal and dry regions?
(A) Shelter belts
(B) Mulching
(C) Terrace Farming
(D) Contour ploughing

Which of the following is the main cause
of land degradation in Punjab-

{A) Intensive cultivation

(B) Deforestation

(C) Over irrigation

(D) Overgrazing

Which one of the following state is not

- covering Sardar Sarovar Dam Project?

(A} Rajasthan
(B) Gujarat
(C) Maharashtra
(B) Telangana

Which of the following rivers does not
originate in Indian territory?

1 Brahmaputra
2. Indus

3.  Ganga

4. Satlyj

5. Ghaghara
(A} 1,2&5

(B) 1,2,44&5
(C) 1,2R4

(D} 2,445
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131, T A 2 g B & ww Phfew A sl
it ¥ R 7 e @ Wi @R HA I
-

W A 8
(9Ra A g9 P (w2)
& TEEE)
a. ®H 1. eflor gl e
b. T 2, TR @ wRa
c. @t 3, Y
d. g 4. TR T
FI

a b ¢ d
(A) 2 4 1 3
M 2 4 3 1
€ & 1 4.3
0 4 2 1 3

132. P § 4 == yeivw uda &7
(a) fomem oda
(8) gTW wEd
(€) amafims oda
(D) dfeam wda

133, & # worifrs wud & wad e
ZEE @ 6 #p
(A)

(8) S T
(C) <o #AifE
(0) =m wHE

134. ¥RiG Haus & dd sgad watoa
:!_

(A) TV W

(B) TmgEh #

(C) wmeridr &

(D) vl &
SET-C

XXI-2

131, Match List A with List B, and select

132.

133,

134.

the cofrect answer using the code given
below the list -

List A ListB
(Synonyms of (Regions)
shifting
cultivation
in India)
a. Jhum 1. South-East
Rajasthan
b. Kumard 2. North-East India
c. Waltre 3. Andhra Pradesh
d. Podu 4, Western Ghats
Code :
a b ¢ d
(A) 2 4 1 3
(B) 2 4 3 1
(C) 4 1 2 3
(D) 4 2 1 3
Which of the following are Block
Mountains? |
(A) Himalayas
(B) Ural
(C) Appalachians
(D) Vosges
Which of the unit is more important for

Public Communication at present?
(A) Radio

(B) Political Party

(C) Social Media

(D) Pressure group

The fourth schedule of Indian
Constitution is associated with -
(A) Council of States
(B} President
(C) Chief Minister
(D) Prime Minister
P.T.O.
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135, ey 3 @ s wdonfrs i R i
i aftrer @ g Bem @ @R
(A) it
(8) defEred
(C) tramiererd
(D) e

136. wra A frw of wrpifis e wrimr
greal fisan T an?
(A) 1950 %
(B) 19529
(C) 1954 %
(D) 3IRrs F { B T

137. Fdme A vl Ty e @ -
(A) 3 &
(8) @M #

(C) gmges fmen &
(D) w3E 3RE #

138, F= o @ o dw & o e wifom
-
(A) WrRd
(B) firgs

(C) Fazzreive
(D) i

139, TG YN A ¥ US & qfEm
¥ orm e #-
(A) wapf afesai
(B) =T & wifendi
(C) +fm witwat
(D) @5 ufes =&

140. HeEwRs W e # Afimogm & o)
&1 e & & -
(A) Tl
(8) IwrgHfy
(C) wasT ez
(D) wenEA
SET-C

XX1-2
135. By which of the following Constitutional
Amendment "Right to Property”™ was

omitted?

(A) 42™
(B)y a3™
(C) 44"
{L'f} 45t

136. In which year the ‘Community
Development Programme’ was sta rted

in India?

(A) 1950

(B) 1952

(C) 1954

(D) None of the above

137. At present Constitutional monarchy exist

in-

(A} U.S.A.

(B} China

(C) UK.

(D} Saudi Arabia

138. Which one of the following. countries
does not posses a written Constitution?
(A) India
(B) Britain
(C) Switzerand
(D) US.A.

139. The head of the State under a
Parliamentary Governments enjoys -
(A) absolute powers
(B) nominal powers
(C) limited powers
(D) no powers

140. The meetings of the Cabinet under
Parllamentary government are presided
over by -

(A) The President
(B) Vice-President
(C) The Speaker

(D} The Prime Minister
[60]
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141, oft s =fis o adg =0 & A o

142.

143.

144,

145.

o e wan @ o Pes & & =
& i R & B soen 22
(A) &8 wemeliestor

Fr= & 3 ailn w after feanddt &
w0 WA dr o e fsn @ e @
(A) TF T

(B) ®F & WM wHEA

(c) wiftgds sk PRy T

(D) FRWs § 4 % a8

adr d9E & nE B @ -

(A) dsewr 3k Teaen o

(B) el dmswd vd USERE R
(C) &am Teu 3R s oo
(D) &am e sl useww g

T wfgen s @t v i of i
gy e

(A) 1991 &

(B) 1992 #

(C) 1993 &

(D) 1994 %

o wiE Yeies e & g daee
s demit ¥ ofiemi ® R ==
e e

(A} 713 v &

(B) 724 weieE #

(C) 73% wiwim= &

(D) 754 syl &

SET-C

[61]

141.

142,

143,

144,

145.

- (A)

XXI-2
Which one of the following writs is
1ssued by the court in case of an illegal
detention of a person?
(A)
(B)
(C)
(D)

Habeas Corpus
Mandamus
Certiorary

Quo-warranto

Which of the following rights can be
claimed by the alien within the territory
of India?

(A) Freedomn of speech

(B) Equality before law

(C) Assemble peacefully without arms
(D) MNone of the above

The Parliament of India consists of-
(A) Lok Sabha and Rajya Sabha

{(B) The President, Lok Sabha and
Rajya Sabha

President and Lok Sabha only
President and Rajya Sabha only

(C)
(©)

In which year the Rashtriya Mahila
Aayog was founded?

(A) 1991

(B) 1992

(C) 1993

(D) 1994

By which Constitutional Amendment
Act, women are provided reservation
in Panchayat Raj Institutions?

71% Amendment

72™ Amendment

73™ Amendment

75™ amendment

(B)
(<)
(©)

P.T.O.
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146. wate =awnerg & meef ~avandtt o Frgfes

147.

148.

149,

150.

fas g & a1 w29

(M) TrgmRY g

(B) WNA & &= OIS & WEY W
T @

(C) wRw iF W =yandte gy Tl
o o e @

(o) fafe wh g

ST 3 o @t wee B s 2
wegn fasan swen &

(A) ©S TR & F=X

(B) & e ¥ 3

(C) ® 7% & =<

(D) o= Ww &5 e

T e T (1992) e wfem
(n) sl i @ '

(B) IFgfoa = o

(C) 37 Fmraf &

(D) Ftws § ¥ o =

“witas s, s, i
A i vl i & e
21" fow wm o

(A) wsiem

(B) &fEm

(C) whwex

(D) o § & & 8

ﬁﬂﬁﬂﬁﬁmgﬁwmm
Mﬂtﬁ-ﬂrﬁﬁﬁlﬁaﬁi?

(A) TPl fafl

(B) wwem-wma ffy

(C) warmmmen fafty

(D) Iwes w

SET-C

[62]

XX1-2

146. Whao is able to appoint the adhoc judges

147,

148.

149,

150.

in the Supreme Court?
{A) President
(B) President with the advice of C.J.L

(C) Chief Justice of India with the

previous consent of the President -

(D) Law Minister

A proclaimation of emergency must be
placed before the Parliament for its
approval -

(A) within one month

(B) within two month

(C) within six month

(D) within one year

‘Indra Sahani Case' (1992) is assodiated
with whom?

(A) Scheduled Castes

(B) Scheduled Tribes

(C) Other Backward Classes

(D) None of the above

"Social Studies is a study of relations
and inter-relations, histo rical,
geographical and social.” Who said this?
(A) Michell

(B) Hemming
(C) Forrester
(D) None of the above

Which of the following contemporary
methed is applicable for the teaching
of the Social Studies?

(A) Discussion methad

(B) Problem solving method

(C) ~Laboratory method

(D) All of the abgye
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6. WoT W 1 W 30 7% & we o R vl

e e & gafma &)

7. W e 3 W 60 7 35 v v wem-fad
grral FAsh 3 watua # g @ S e
w7 3 W & W v & w0 # 2a e &
gt e U O SR Taie I e
* 7 ' W

g, Wo Wom 61 W 90 am & wer s Rl
fe=d) srran 3Gl s wwpa s 3 ¥
g €1 3 ¥ el UF W 6 WeT 8
wr i & w0 8 g s &) anaedf ames
73 & Fger wafa B v & wew e
| @F & f5 wm W 5 = § wafE
v, fadra smar & g F =8 & s

9. 999 WEm 9 ¥ 150 9% & ne nfow od
e o wenthe semmE & TmtE #

10, 3vell @ g4 wee UF & Tfom vd e o
wmE weao 4 4 7 e & gl @
2w &, T g o oom naedt 3
andes o ¥ fmm &

1. 75 o wer-giee & Fife e w B
1 W &

12. 0o U1 BE T A wm e J oY) ol o
¥e5 = FE B O 3 v | )

13. 3NOEHONRD TR TAE W A a8 IR T @
e e &1 fapa &0

14, Than TR 8 9 M0EHOHIRD I TR
o mar Fraw @ s wia &) snafldl ®
TR T & wEe o v aeE-gRe s
iy A S A s

b,

1,

10,

XXI-2

Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 arc related to First
language - Hindi OR English. Candidate has
to sclect the guestions of only one language as
the First language. Answer the questions of the
language which the candidate has selected as
First langunge in his’/her application form.

Question Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sunskrit OR
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his‘her application form.
Be careful that the language selected as First
language cannot be taken as Second language.

Question Nos. 91 to 150 are related to
Mathematics and Science OR Social
Studies.

The candidate has to answer the subject

. Mathematics and Science OR Social

1l.

12,

13,

14,

Sindics as selected by the candidate in the
apphcation form.

Rough Work can be done in specified space of
the Question Booklet.

Do not waste ime in solving the questions. If

you cannol answer a question, proceed to the
next one.

Do mot fold or damage the OMR answer shect
any way.

Aller examination submil yvour OMR answer
sheet to the invigilator. Candidates are allowed
to take away the carbon copy of OMR answer
sheet and Question Bookleq,
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